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Answer the following. Be sure to include units. (Figures may not be drawn to scale.)

1. Given the following right pyramid with a square base,

£=251in

&= [ lqt19+19=56 P

14 in

L 7 )= 700 in
a) Find the lateral area.L' 7 f L = ( >(S >(25> E = IZ
b) Find the total surface area5:7oo ¥ (/t/,/ly) - Xqé ih

¢) Find the volume. "
=SBl (1 )= 5 m
Lo dus 9% - SO0 V=3 Bh=(3)(19-10) )= 1565 1

2. Given the following regular right pyramid,

£=20 in

d== 1z jn
B=yap- (z’)(m)(%) =541 1h?

‘l = L+(+CHEH{+6=3bin

: = 2 in? ,
he Yoo G o 1pl - (B3O = 360

,’Y % a) Find the lateral area. / A SYT3 ~Ys3.s
s b) Find the total surface are=760 + zap = 260 + ({)(;ﬁ)(;(,) =40 {/ e
[

¢) Find the volume.

v= L5 (2 618) (153) = hor. ! in



3. Given the following regular right pyramid,

3.

h=10 cm

B=dep= GGG =5YF »
a=<313 in

£ = Vir+ (G = 1127 m

P=6+€tl +H+(+L =326 Om
a) Find the lateral area. Z :’f’j (’) (%) (’r/:/) x ZO 2,0 Glm

b) Find the total surface area. = 262.3 + 59712 = 29¢. ‘f 't

¢) Find the volume. :
V=4 g=()(541) () = 3113 cr

A right pyramid with a square base has a height of 10 cm and a volume of

120 cm’. 3 V 3(ke) s -
a) Find the dimensions of the base. V 7 BA P /o =35 o J _,(_9_>_<_(i
b) Find the slant height.

c¢) Find the total surface area. p= Et6+6+L =2Y ¢

Pt R
| = £pl =(DE(T) 1253
S

"

E+L=3(+ 1253 ‘-:[g_/j_g:f

A right pyramid with a square base has a slant height of 8 1n and a lateral area

of 80 in’. Z( 30)

a) Find the dimensions of the base. é— 7 fﬁ ) F ﬁ =201 i
b) Find the height.

¢) Find the volume. A W”t?éw 5 YKY

5: L= T h

< Hhhe (Do) () = 33 7

N
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